thatxX Bz T bFY-UXF

EIREEEZ BRI [Fon - |BE 4 MERESZ |FE KA Eix B |fEFE
2% [100m 3 31|FHE REE YEZ RIEIGES 11.33 [0
25 [100m 1 37(luA #RAR YYEN 447 3|AliEH 10.89 [+1.8
EF [100m 8 38|fBIE FE AHh % 347 3|BlfE R 11.66 [+1.5
25 [200m 4 31{FEE REE YR 3|AliE 23.19 [-0.2
2% [200m 2 37(luA #RAR YRR 297 RIEIGES 22.78 |+0.1
2F [200m 8 38[fEE FE AFh ¥ 747 3|AlfE A 23.52 [-1.3
& ¥ [800m 1 35(hHk b N Yy Y 2y 3|BlfErR 2.07.16

27 |E=Bk 2 43(hH REE 4 v397 3|AliEH 3m00

BF |Eakk 1 AT|7% b ) vy 3|BlfE R 3m10

BT | =B 2 AT(FR b ) vy 3|&)fE 11m72 [+1.6
BT (R 5 29[ ALK hHYy 94 RIEIGES 10m79

BT (R 2 46[%M BB THE vav 3|&)fE 13m04

BF |PEE 1 29|y ALK VESRL 3|AfE 39m93

B |HBE& 6 33(FHE =KER $4h Y40y 3|AliEH 25m15

25 [{£4x100mR | 4 20(5EMm  BEsL hei 1At 2|BlfE A 48.45

B2F [(€4x100mR | 4 0BX FHE ahES 719 2| Al 48.45

25 [{§4x100mR | 4 258K FES S 2|BlfE A 48.45

BF [(R4x100mR | 4 | 2812|@ME 1&% L)) 1|Alf&Es 48.45

B2F [(®4x100mR | 4 | 2813|EBIB EH A £ 2t 1|Blf&E= 48.45

BF [{K4x100mR | 4 | 2815[TH &KX IIY Y94 1|Alf&Es 48.45

2% [4x200mR 1 31|FHE REE YEZ 3|AfE A 1.32.81

2F [4x200mR 1 36[/h\R IKED Ang 1944 3|AlE 1.32.81

2% [4%x200mR 1 37(lhA #RER YeEh 49 3|AlfE A 1.32.81

2F [4x200mR 1 38(FEE FE A0 ¥ 74 RIEIEES 1.32.81

2% [4x200mR 1 402 X Nz 3|AlfE A 1.32.81

2F [4x200mR 1 AT(FR O ) hyy 3|AlsE 1.32.81

ZF [{&4x100mR | 2 2R HE 33t 7h 2|liEH 55.01

ZF [{K4x100mR | 2 I ENES R 2|AlfE A 55.01

ZF [{K4x100mR | 2 | 2817|REk = 13U 1|&lf&E 55.01

ZF [{K4x100mR | 2 | 2818|774 % X7 > &k |744 2774 b 1|Alf&Es 55.01

ZF [{K4x100mR | 2 | 2820|pk =& i ik 1|Elf&E 55.01

ZF [fE4x100mR | 2 | 2823|@H+ 7EAA aFh bk 1|AlfEs 55.01

#Z ¥ [4x100mR 8 bA[KH Eiff x4 AEIESES 55.49

#ZF [4x100mR 8 h[IRE = Y 3% 3|EfE A 55.49

ZF |4x100mR 8 5|74 RTVRIL K 74 A7/% vk 3|BlfE 55.49

#Z¥ [4x100mR 8 60(BET fAIE 7Y 114F 3|ElfE 55.49

ZF [4x100mR 8 | 2819|#R KE N 770 1|8 h 55.49

#Z¥ [4x100mR 8 | 2821 &P RV 1|8lfE R 55.49

ZF (EEk 1 A hAx 0E Yeeb 131 2|RlfE A 2m00




